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Read the following instructions carefully before you begin to attempt the questions.

INSTRUCTIONS TO CANDIDATE
This booklet contains 100 Questions in all comprising the following Four parts.

e Part-(I) : General Intelligence and Reasoning (25 Questions)
e Part-(ll) : Quantitative Aptitude (25 Questions)
o Part-(lll) : General Awareness (25 Questions)
e Part-(IV) : English Language (25 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

Each question carries negative marking also as 0.5 mark will be deducted for each wrong answer.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.

Maximum Marks

Total Questions
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General Intelligence and Reasoning

Five boxes- M, N, O, P and Q are arranged in
decreasing order from left to right of their sizes. Only
one box is smaller than box N. Box P is bigger than
box M but smaller than box Q. At least one box is
bigger than Q. Which box is the third biggest box?

(A) O (B)Q

(C)P (D) M

Select the option that is related to the fifth term in the
same way as the second term is related to the first
term and the fourth term is related to the third term.
7:336::9:720 :: 5:?
(A) 620

(C) 445

(B) 120
(D) 220

Select the combination of letters that when
sequentially placed in the blanks of the given series
will complete the series.
_bc_efa_cd_fa_c_ef bc_ef

(A) abbebdad (B) addebdad

(C) adbebdad (D) adbebbad

Select the correct combination of mathematical signs
to sequentially replace the ™' signs and to balance the
given equation.
21*3*12*6*4=36
(A) +,-,x, =+
(C)-,+,x,+

B)x,+, -,+
(D) +,-,+, x

Select the option in which the word pair shares the
same relationship as that shared in the given word
pair.

(Note: The words must be considered as meaningful
English words and must not be related to each other
based on the number of letters/number of
consonants/vowels in the word.)

Books: Author

(A) Welding: Blacksmith

(B) Newspaper: Journalist

(C) Furniture: Cobbler

(D) Treating People: Pharmacists

Radha drives 5km in an east direction. She then
takes a right turn and drives 6km. She then again
takes a right turn and drives 8km. She then turns
90° in clockwise direction and drives 7km. She then
turns 900 in anti-clock wise direction drives 3km and
reaches finishing point. What is the direction of
finishing point with respect to starting point?

(A) North-west (B) South-west

(C) North-east (D) South-east

A piece of paper is folded and punched as shown
below in the question figures. From the given answer

OO O>d0
v v v v
v%)v A A
(A)O[><1O (B)O[><10
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If Suman is the wife of the son of Rajesh's wife, then
how is Suman related to Rajesh?

(A) Daughter-in-law (B) Wife

(C) Sister (D) Brother's wife

Choose the figure that best represents the
relationship among the classes given below.
Grass, Plant, Bamboo, Snake

(A)@@ a5 SO

©
(©) (D) &

Select the option in which the numbers share the
same relationship in set as that shared by the
numbers in the given set. (Note: Operations should
be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g.,
Operation on 13 such as adding/subtracting/
Multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed)

(22,78, 112)

(34, 57, 46)

(A) (12, 36, 48)
(C) (31,67,72)

(B) (27, 89, 124)
(D) (43, 92, 108)

Select the option figure, which is embedded in the
given figure. (Rotation is NOT allowed)

W

7

© (D)

In a certain code language, 'BAG' is coded as '11',
and 'GET' is coded as '697'. How will 'HOT' be coded
in that language?
(A) 2497
(C) 2187

(B) 2397
(D) 3125
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Select the option that represents the correct order of
the given words as they would appear in an English

dictionary.

1- Pattern 2- Patron

3- Patriot 4- Patriarchy
5- Patrimony

(A)5,4,3,2,1 (B)4,5,2,3,1
(C)4,5,3,2,1 (D)1,2,3,4,5

If '"A' means ' x ', 'B' means '+, 'C' means '+ and 'D'
means ' - ', then what will come in the place of '?' in
the given expression?

12A16C9D221B13="?

(A) 184 (B) 210

(C) 98 (D) 106

In the following questions below are given some
statements followed by some conclusions based on
those statements. Take the given statements to be
true even if they seem to be at variance from
commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically
follows the given statements.

Statements: I. All Rings are Gold

Il. Some Gold are Silver

Conclusion: . Some Rings can be Silver

Il. All Rings are Silver

lll. Some Rings are not Silver

(A) Only conclusion | follows

(B) Only conclusion | and either conclusion Il or
conclusion Ill follows

(C) Either conclusion Il or conclusion Ill follows

(D) Only conclusion Il follows

Select the figure from the given options that can
replace the question mark (?) in the following series.

& o\l
Y| e/

(o]

e
\2 e

(A) (8)

(°|%)
el &/

(€) (D)

Which letter number cluster will replace the question
mark (?) to complete the given series?

B10, E13, H52, K57, N342, [?]

(A) Q349 (B) Q352

(C) U312 (D) V512

Select the correct mirror image of the given
combination when the mirror is placed at line MN as
shown.
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The second number in the given number pairs is
obtained by performing certain mathematical
operation(s) on the first number. The same
operation(s) are followed in all the number pairs,
EXCEPT one. Find that odd number pair.

(A) 27: 256 (B) 35: 576

(C) 41: 900 (D) 32: 484

In a certain code language, 'FORGED' is coded as
'BEERMF'. What is the code for 'MERITS' in that code

language?
(A) QTGMCR (B) QTGRMC
(C) QTGMRC (D) QTGRCM

Select the option that is related to third word in the
same way as the second word is related to the first
word.

Remote: Battery :: Vehicle: ?

(A) Car (B) Fuel

(C) Wheels (D) Gears

Count the number of squares in the given figure.

(A) 11
(C) 24

(B) 21
(D) 26

Study the given pattern carefully and select the
number that can replace the question mark (?) in it.
First row: 12, 9, 63

Second row: 8, 5, 39

Third row: 17, 11, [?]

(NOTE: Operations should be performed on the
whole numbers, without breaking down the number
into its constituent digits. For example, 13 -
Operations on 13 such as adding/deleting/multiplying
etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations
on 1 and 3 is not allowed.)
(A) 156

(C) 168

(B) 179
(D) 156
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Which of the following numbers will replace the
question mark (?) in the given series?

4,9, 17, 35, 69, 139,?, 555
(A) 258

(C) 279

(B) 277
(D) 281

Which of the following figure can be formed on folding
the given open cube in the question?

P
Q
RIS
T
U
Q 3
_ s [R
(A) (B)
U P
R S Q S
(©) (D)

Quantitative Aptitude

Type 'A' rice costing ¥15/kg is mixed with type 'B' rice
costing %20/kg. If the cost price of the resulting
mixture becomes %18/kg, then find the ratio of
respective quantities in which type 'A' rice is mixed
with type 'B' rice.
(A) 3:2

(C) 34

(B) 2:3
(D) 4:3

The radii of two concentric circles are 'x' cm and 28
cm. 'A' and 'D' are points on larger circle and 'B' and
'C' are points on smaller circle. If ABCD is a straight
line and BC = 36 cm and AD = 44 cm, then what is
the value of 'X'? (x < 28 cm)

(A) 28.46 (B) 24.98

(C) 18.65 (D) 34.63

If azb = 2:3, b:c = 4:5 and c.d = 3:5 and 'e' is 20%
more than 'd', then what is the value of b:e?

(A) 3:5 (B) 2:5

(C)4:5 (D) 3:4

'A' alone can complete a work in Zzgdays while 'B'

alone can complete the same work in 14§days. If'A'
and 'B' work together, then the work will be completed
in how many days?
(A) 10> days

6
(©) 83 days

(B) 8= days
(D) 91’;0 days

Find the circumradius of the triangle with sides 16 cm,
16 cm and 24 cm.

(A) g cm (B) #7 cm
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Average of 8 consecutive odd numbers is 20. If the
previous and next odd number to these 8 odd
numbers are also included, then what will be the new

average?
(A) 18 (B) 19
(C) 20 (D) 22

Compound interest (compounded annually) on a sum
for 2 years is ¥2415. If the rate of interest is 10% p.a.,
then what is the sum?
(A) 212000
(C) *10500

(B) 311500
(D) 39000

A man bought a second-hand bike costing ¥14,500
and spent ¥2,000 on its maintenance and sold it for
%18,480. Find his profit percentage.

(A) 10% (B) 9%

(C) 15% (D) 12%

A train takes 16 seconds to overtake a biker who's
travelling in the same direction as of the train at 45
km/h. Find the length of the train given that it's
travelling twice as fast as the bike.

(A) 150 metres (B) 120 metres

(C) 200 metres (D) 250 metres

The pie chart given below shows the percentage
distribution of number of shirts sold by a cloth
merchant on 5 different days out of total number of
shirts sold by him on all five days together. Read the
chart carefully and answer the question that follows:

If difference between number of shirts sold on
Wednesday and Friday was 630, then find the
number of shirts sold on Tuesday.

(A) 900 (B) 810

(C) 720 (D) 1350

If the total surface area of a cube is 486 cm?, then
what is the volume of the cube?

(A) 512 cm? (B) 729 cm3

(C) 1000 cm?® (D) 343 cm3

Find the simplified value of the following expression:
4 2 8 2
i (6 a ) T

3 5715 3
(A) 8 (B) 4
(C)12 (D) 16

The table given below shows number of trees of three
types that were planted by the government agencies
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in 4 different years. Study the table carefully and
answer the question that follows.

Trees 2018 | 2019 [ 2020 | 2021 | 2022

Banyan [ 15000 [ 20450 | 16000 | 14500 | 18750
Oak 18000 | 14520 | 16540 | 19860 | 21440
Pine 22560 | 24620 | 25200 | 20600 | 23500

Total number of Banyan trees planted in 2019 and
2020 together is how much percent of that in 2018.
(A) 193% (B) 250%

(C) 243% (D) 143%

If cos® + sin® = V2, then what is the value of
secBtanf?

(A)O (B) V2

(€)1 (D) 2

The line graph given below shows the price (in %) of
six different articles. Study the graph carefully and
answer the question given below.

120
100 _A 105
/’95 \
80
70
60
40 0

A B C D E F

What is the average price of all the given six articles

together?
(A) %65 (B) %75
(C) %60 (D) %80

A 8-digit number '26812xy" is divisible by 8, then the
total possible pairs of (x, y) are if x < y:

(A)7 (B) 13

(C)12 (D)6

In AABC,BD=8cm,CD=7cm,CF=9cm, AE=7

cm and BE =9 cm, then find the value of FA.
A

£ F
(A) 8 cm ’ (B) 7cm
(C) 10 cm (D) 9 cm

If (a® - b%®) = 1304 and (a - b) = 8, then find the value
of ab.
(A) 34
(C) 36

(B) 33
(D) 29
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In an election contested between two candidates,
10% voters in the voter list did not cast their votes
and 20% of the remaining votes were declared
invalid. If the difference between the votes received
by winning candidate and losing candidate is 14.4%
of total number of voters in the voter list and total
number of votes received by the winning candidate is
864, then find the total number of voters in the voter
list.

(A) 1980
(C) 2050

(B) 2200
(D) 2000

ABCD is a cyclic quadrilateral. If ZABC = 84°, then
find ZADC - zABC
(A) 16°
(C) 18°

(B) 8°
(D) 120

Find the simplified value of:
tan 40° + tan 20°

1 —tan 40°tan 20°

(A) (11V3) (B) V3

()1 (D) (23)

If cot 2A = tan (A - 36°), then find the value of 'A'".
(A) 54° (B) 42°

(C) 36° (D) 48°

A number is first increased by 150%, then increased
by 40% and then decreased by 80%. If the resultant
number is 245, then find the original number.

(A) 350 (B) 225

(C) 250 (D) 450

If (p +q):(q + r):(p +r) = 8:9:7, then what is the value
of 3p:2q:3r?

(A) 12:9:13 (B) 9:10:12

(C) 7:5:8 (D) 9:4:6

The bar graph given below shows total (dot balls +
balls on which run is scored) number of balls played
and number of dot balls played, by 3 players in a
match. Study the bar graph carefully and answer the
question that follows.

Nikhil Sumit Virat

Aman

@ Total number of balls played
SNumber of dot balls played
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What is the ratio of total number of balls played by
Aman to the number of balls played by Virat on which
runs are scored?
(A) 2:1
(C)1:2

(B) 1:1
(D) 3:4

General Awareness

Who translated Ramayana into Persian?
(A) Abul Fazal (B) Abdul Qadir Badauni
(C) Abdul Latif (D) Iswar Das

The memory of the computer is measured by:
(A) Ohms (B) Volts
(C) Bits (D) Amperes

Right to Constitutional Remedies comes under

(A) Legai rights
(C) Fundamental rights

(B) Human rights
(D) Natural rights

National Agriculture Extension Project (NAEP) was
started during the year
(A) 1977-78
(C) 1991-92

(B) 1982-83
(D) 1902-03

The National Integration Council (NIC) is chaired by
the .

(A) Prime Minister of India

(B) President of India

(C) Home Minister

(D) Vice President of India

In the Vedic Period, which of the following rivers was
known as 'Purushni'?
(A) Indus

(C) Chenab

(B) Jhelum
(D) Ravi

Which of the following infrastructure sectors of India is
related to Bharat Mala Project?

(A) Railways (B) Road infrastructure

(C) Port sector (D) Telecom sector

Which Constitutional Article lays down qualifications
for becoming a voter?
(A) Article 324
(C) Article 328

(B) Article 326
(D) Article 330

Which one of the following pairs is NOT correctly
matched?

(A) Lala Lajpat Rai- National School at Lahore

(B) Jamnalal Bajaj- Satyagraha Ashram at Wardha
(C) Bal Gangadhar Tilak- Satya Shodhak Sabha

(D) Dadabhai Naoroji- Bombay Association

What is untrue about bleaching powder?

(A) It is a powder of light yellow colour

(B) It is not highly soluble in water

(C) It releases chlorine after reaction with dilute acid
(D) It is an organic compound.

Kamet peak is in which state/ UTs of India?
(A) Himachal Pradesh (B) Jammu and Kashmir
(C) Arunachal Pradesh (D) Uttarakhand

Which of the following comes under Union List of 7th
schedule of the Indian constitution?
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(A) Public order

(B) Establishment of standards of weight and
measure

(C) Hospitals and dispensaries

(D) Public Health and sanitation

What is ‘BioTRIG’, recently seen in the news?
(A) Waste management technology

(B) Method used for environmental conservation
(C) Tank cleaning robot

(D) Technique to remove pest from crop

Recently, which South American country has
declared a health emergency due to the rising cases
of dengue fever?
(A) Chile

(C) Argentina

(B) Peru
(D) Bolivia

Recently, the National Institute of Ayurveda (NIA)
sighed an agreement with which country to promote
Ayurveda & Thai traditional medicine?

(A) Singapore (B) Vietham

(C) Thailand (D) Japan

Which one of the following is a bio-diesel crop?
(A) Sugarcane (B) Potato
(C) Cotton (D) Jatropha

Who among the following issued the 'Communal
Award'?

(A) Stanley Baldwin

(C) Ramsay Macdonald

(B) Neville Chamberlain
(D) Winston Churchill

Ideas of the welfare state are contained in:
(A) Directive Principles of State Policy

(B) Part-VIll

(C) Fundamental Rights

(D) Preamble of the constitution

"TRAI' is a regulatory body associated with which of
the following sectors?
(A) Transport

(C) Technical Education

(B) Telecom
(D) Tourism

The Dilwara temple at Mount Abu in Rajasthan was
built by the followers of
(A) Hinduism
(C) Buddhism

(B) Sikhism
(D) Jainism

Corporation tax is a tax imposed on

(A) The net incomes of the companies

(B) The corporate properties

(C) The utilities provided by the corporation

(D) Tax imposed by the corporation on individual
properties

National Security Act was passed in the year

(A)1974
(C) 1988

(B) 1980
(D) 1984

Who was the architect who designed the 'Taj Mahal'?
(A) Mohammad Hussain (B) Ismail
(C) Shah Abbas (D) Ustad Ahmad Lahori

Which is the highest river basin of Peninsular India?
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(A) Mahanadi
(C) Godavari

(B) Krishna
(D) Narmada

What is thyroxine?
(A) Hormone (B) Enzyme
(C) Vitamin (D) None of these

English Lanquage

Out of the following choose the word which expresses
the word opposite in meaning to the given word.
STERN
(A) horrid
(C) genial

(B) strict
(D) meagre

Out of the following choose the word which expresses
the word opposite in meaning to the given word.
Ineptitude
(A) challenge
(C) falsehood

(B) plot
(D) competence

Select the correct spelling of the word.
(A) moribund (B) moreband
(C) moriband (D) morebund

In the following question, four different spellings of a
word are given, out of which only one is correct. Find
the correctly spelled word.
(A) luscous
(C) lucious

(B) luscious
(D) lushous

In the following question, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.

DASHING
(A) handsome (B) deceitful
(C) elated (D) cowardly

In the following question, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.

WARY
(A) grateful (B) cautious
(C) daft (D) innocent

In the question below, an idiom is given, followed by
four options. Select the option that gives the correct
meaning of the idiom.

Put in one's two cents

(A) to help someone out

(B) to contribute to a cause

(C) offer one's opinion

(D) to work very hard

Select the most appropriate meaning of the given
idiom.

Cook someone's goose

(A) to spoil someone's plans

(B) to take credit for someone else's achievements
(C) to criticise someone harshly

(D) to agree with someone's idea

In the following question, one part of the sentence
may have an error. Select the option containing the
error as your answer.
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The large number of (A) immigrants have kept
Singapore's (B)/ population from declining. (C)/ No
error (D)

(A) A (B)B

©c (D)D

Find out the error, if any:
He was a strong man so (A)/ there was no need for
me to (B)/ worry about bill-paying or problems. (C)/

No error (D)
(A) A (B)B
©c (D)D
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words have been left out and replaced by a blank.
First, read the passage and try to understand what it
is about. Then fill in the blanks as per the questions
given.

In the past two decades, children have become more
obese and have ___ (I)__ obesity at a younger age.
A 2020 report found that 14.7 million children and
adolescents in the U.S. live with obesity. Because

obesity is a known risk factor for ___ (ll)__ health
problems, its rapid increase during the COVID-19
pandemic raised ___ (lll)_. Without intervention,

many obese adolescents will remain obese as adults.
Even before adulthood, some children will have
health problems beginning in their preteen years. To
__(IV)_these issues, in early 2023, the American
Academy of Pediatrics released ___ (V)___ first new
obesity management guidelines in 15 years.

Find the correct word in case (l).

(A) developed (B) roamed
(C) adopted (D) depicted
Find the correct word in case (ll).

(A) rigid (B) serious
(C) little (D) certain

Find the correct word in case (lll).
(A) alarms (B) victories
(C) flaws (D) views

Find the correct word in case (IV).
(A) address (B) immense
(C) summon (D) brighten

Find the correct word in case (V).
(A) her (B) their
(C) his (D) its

In the following question, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

One who speaks less
(A) hypocrite

(C) convalescent

(B) insatiable
(D) reticent

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is
no need to substitute it, select No improvement.
Everyone makes a fool of themselves once in a while;
don't (beat yourself out).
(A) beat yourself down
(C) bear yourself apart

(B) beat yourself up
(D) No improvement
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Select the correct passive form of the given sentence.
Anita turned on the music system at full volume.

(A) The music system has been turned on at full
volume by Anita.

(B) The music system is turned on at full volume by
Anita.

(C) The music system was turned on at full volume by
Anita.

(D) The music system had been turned on at full
volume by Anita.

Select the correct passive form of the given sentence.
The driver had parked the car in front of the parking
metre.

(A) The driver will park the car in front of the parking
metre.

(B) In front of the parking metre, the driver had
parked the car.

(C) The car will have been parked in front of the
parking metre by the driver.

(D) The car had been parked by the driver in front of
the parking metre.

Select the correct indirect form of the given sentence.
Preeti said to me, "l will go to the bank next week."
(A) Preeti told me that she would have gone to the
bank the following week.

(B) Preeti told me that she had gone to the bank the
following week.

(C) Preeti told me that she will go to the bank the
following week.

(D) Preeti told me that she would go to the bank the
following week.

Select the word which means the same as the group
of words given.

A funeral procession
(A) flotilla

(C) corsage

(B) congregation
(D) cortege
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In the question given below, rearrange the fragments
in the correct order, and choose the correct option.

P. For example, Chinese emotions and their
expression differ from other cultures in their low
frequency, intensity and duration.

Q. This tradition consequently discourages their
expression.

R. In fact, there is a long history of considering
emotions as pathogenic, understood as factors that
disturb the normal functioning of the body.

S. Culture can influence the way people showcase
their emotions.
(A) PRSQ

(C) SRPQ

(B) PQRS
(D) SPRQ

In the following question, a sentence has been given
in Direct/ Indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Direct/ Indirect speech.

Sania said to me, "l have heard the rumour."

(A) Sania told me that she hears the rumour.

(B) Sania told me that she heard the rumour.

(C) Sania told me that she had heard the rumour.

(D) Sania told me that she has heard the rumour.

In the given sentence, a blank is given indicating that
something is missing. From the given four options,
choose the one that provides the correct word to be
filled in the blank, thereby making the sentence
grammatically and contextually correct.

She slowly cruised around the city, not to go
anywhere in particular.
(A) intending

(C) praising

(B) approaching
(D) denying

In the following question, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

To free someone from all blame

(A) exonerate (B) delegate

(C) obsolete (D) radiate
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